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106 = =Y 2,930,844 1,187,415
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K & sl (22) 2R (=2%) () ()
103 2 23 - 105,670 167,106 37 393
104 # Iy - 106,215 169,757 37 393
105 # I3 - 106,484 172,037 37 393
106 £ Iy - 107,570 173,175 37 393
107 # I3 - 107,649 183,392 37 426
R F - DL - 114,848 5 167
23 E 26.8 - 9,820 3 20
“w Lg% 9.9 - 1,583 - 1
75 4% E 225 - 7,239 - 9
A & E 6.2 - 5,477 2 5
) ¥ £ 8.7 - 4,068 - 3
5z &= E 12.1 - 5,470 - 3
p ™ E 9.4 - 4,828 - 11
* ¥ E 24.2 - 2,650 - 4
! T x 4.0 - 2,539 - 4
~ | E 4.0 - 2,072 - 7
Y sr E 5.0 - 3,503 - 20
A~ il e 11.0 - 14,198 - 41
+ # i 14.5 - 6,466 - 4
t5 ey E 5.5 - 1,261 - 3
5 B i 6.0 - 3,661 - 9
ok i e 11.7 - 8,407 - -
¥ Bl % 5.7 - 4,573 - 5
+ v S 8.3 - 10,181 - 9
H + & 16.0 - 16,852 - 9
By s e ) et 107,649 68,544 32 259
rY 'k P 158.7 101,432 66,734 32 256
b3y % 135 6,217 1,810 - 3
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103 E: & - 116,756 65,198 353 226
104 ¥ s - 116,756 65,198 353 226
105 ¥ & - 116,756 65,198 339 227
106 ¥ b - 116,756 65,198 339 227
107 & IS - 116,756 65,198 335 227
e A I L R 116,756 65,198 335 227
-k e 158.7 116,756 65,198 335 227
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103 E2 A& - 47,810 147,883 5 65
104 & & - 48,150 148,842 5 67
105 & e - 48,150 148,922 5 67
106 E: & - 48,150 148,922 5 67
107 E: 3 - 48,150 148,962 5 67
IR S 1,880 - - -
B L % 45.5 1,880 - - -
BAED H )3 40,872 145,912 5 44
% # % 30.7 15,374 57,010 4 12
X = i 36.7 12,503 21,807 1 10
Ak - E 24.2 9,652 11,936 - 18
W * E 14.8 - 9.672 ] 1
4 5y % 18.6 - 20,568 - 1
. 3 % 7.8 - 11,927 - 1
37 B % 13.6 3,343 12,992 - 1
By e )t 5,398 3,050 - 23
i 'k e 158.70 5,398 3,050 - 23
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- 263,501 37,898 11 1,304
- 264,541 39,276 11 1,316
- 264,541 39,276 11 1,324
- 265,358 39,276 11 1,376
- 266,858 39,276 11 1,430
249,944 37,254 11 1,415
95.8 39,614 2,503 - 336
124.2 40,923 9,473 8 320
119.1 169,407 25,278 3 759
A B B 16,914 2,022 - 15
9.5 16,914 2,022 - 15
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103 - 23 - 249,500 92,463 160 404
104 ¥ IS - 250,150 93,023 160 404
105 & IS - 252,988 94,513 162 404
106 ¥-2 IS - 252,884 96,777 162 404
107 ¥-2 I - 254,980 99,477 162 404
vk g 254,980 99,477 162 404
~ ¥ E 80.9 34,028 1,113 19 129
& g E 65.0 68,730 1,717 57 5
i N E 138.5 90,689 85,034 21 195
i 'k E 41.3 51,148 7,914 59 23
= = E 61.2 10,385 3,699 6 52
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I - 117,440 112,316 9 516
i - 117,640 114,307 9 520
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& - 121,140 119,236 26 530
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pra 61.2 15,161 20,215 1 65
E 38.0 26,063 11,462 4 -
e 171.0 79,916 87,559 21 465
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¥-3 & - 229,468 11,262 44 697
¥ & - 229,468 12,452 44 695
¥-3 & - 229,468 12,452 44 706
# & - 229,833 12,452 44 706
¥-3 & - 229,833 12,700 44 714
LR - 161,884 9,519 44 705
x 73.0 159,199 9,144 44 704
x 48.2 2,685 375 - 1
Frh(H )g YL 64,358 2,921 - 9
) s 8.8 7,663 1,620 - 1
% s 48.4 10,378 1,266 - 2
R s 18.1 8,302 - - 1
" x 19.3 34,461 35 - 5
N * 8.0 3,554 - - i
3,591 260 - -
% 2.0 877 - - -
ph S 6.5 500 - - -
ph S 0.6 318 - - -
ph S 1.5 535 260 - -
i 3.6 1,108 - - -
i Fy 1.0 253 - - -
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103 E 2 - 94,175 25,230 3 278
104 & R - 95,362 27,486 43 283
105 & R - 96,375 27,874 43 283
106 & R - 96,725 27,874 43 286
107 & R - 97,325 28,499 43 295
WL ] 81,332 20,911 43 295
B Ly iz 455 43,908 1,416 25 43
5 # iz 63.0 37,223 18,604 18 252
s # iz 54.0 201 891 ; -
B(F ) E e 3 15,993 7,588 - -
37 - i 34.0 15,993 7,588 - ;
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103 # 23 - 129,987 96,393 32 389
104 # =Y - 162,960 54,912 32 443
105 # =Y - 164,392 55,434 34 443
106 # =Y - 170,831 56,424 34 445
107 # =Y - 170,831 57,418 36 445
IEN - BN 77,066 46,530 27 433
v o S 54.0 21,333 11,002 6 19
{4 3 S 58.3 38,160 31,481 21 243
* % E 95.8 17,573 4,047 - 171
Br(HO)E @t 93,765 10,888 9 12
& il E 32.5 41,968 1,622 9 2
il 7 E 10.0 12,293 3,583 - 1
=1 Pl E 16.5 16,994 5,328 - 1
g Pl E 14.0 22510 355 - 8
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103 2 J& - 84,161 9,492 17 200

104 E:3 & - 84,328 9,492 17 200

105 P R . 84,428 9,492 17 200

106 # & - 84,428 9,492 17 200

107 ¥ J& - 84,428 9,492 17 200
LN "g P e 84,428 9,492 17 200

5 il 119.1 38,641 2,610 - 102

3 k % 186.6 45,787 6,882 17 08
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103 = A i 142,696 76,878 32 260

104 ¥-3 & - 143,884 76,933 32 273

105 # F - 144,573 77,102 32 278

106 ¥ & - 144,923 77,638 32 278

107 # g - 146,415 77,638 32 278
- DL 146,415 77,638 32 278

5 E 119.1 65,453 19,253 - 136

3 K % 186.6 80,962 58,385 32 142
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P e - 285,799 66,004 282 589
E: A - 287,921 66,949 289 589
E: A - 289,308 67,178 292 589
E: A - 291,010 68,346 298 591
E: A - 294,850 69,207 301 592
R B N 228,675 62,044 231 589
-k % 186.6 55,166 3,272 19 91
i i 82.0 173,509 58,772 212 498
(B )F e 3 66,175 7,163 70 3
D S 4 50.0 66,175 7,163 70 3
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103 z R i 205,561 40,284 228 634
104 E:3 & - 205,561 40,869 228 635
105 &= J& - 206,217 40,869 229 635
106 E:2 & - 206,217 41,069 229 635
107 &= J& - 206,917 41,069 230 635
LN "g P e 206,917 41,069 230 635
3 k % 186.6 i 550 i i
o # % 82.0 69,632 10,616 55 92
1k —+ il 75.9 58,874 11,015 97 251
A~ ¥ il 80.9 78,411 18,888 78 292
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103 # R - 126,776 103,905 4 755
104 # A - 126,776 103,905 4 755
105 # I3 - 126,776 105,005 4 754
106 E: =Y - 126,776 105,635 4 754
107 # A - 126,776 107,200 10 754
LA ST 111,885 98,963 9 734
i B % 171.0 80,735 30,924 3 678
i ik i 44.0 23,562 57,671 6 52
z A i 31.9 7,588 10,368 - 4
L YGIDE- RN 14,891 8,237 1 20
H it i 41.3 1,268 116 1 -
* = s 22.3 4,015 904 - 4
r €y i 25.7 3,592 1,657 - 9
W, oS e 20.4 1,077 1,674 - 5
% 4 i 20.7 2,059 1,207 - 1
oS T e 32.0 2,880 2,399 - 1
oS + e 6.0 - 280 - -
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103 & = - 230,198 66,436 13 1,476
104 E: A - 230,268 67,329 13 1,555
105 E: R - 230,268 67,329 13 1,584
106 E: A - 230,268 67,329 13 1,615
107 E: A - 230,268 67,927 13 1,680
I SN 92,481 33,089 12 1,579
% % i 84.4 83,284 32,389 12 1,556
E T 81.2 9,197 700 - 23
(B ) E ] 3 137,787 34,838 1 101
Ee A E 39.3 10,490 1,575 - 15
A1 k4 E 37.8 15,792 3,549 - 16
% T E 20.5 53,700 1,272 - 13
¥ 57 e 3.0 - - - -
e = i 3.0 220 220 - 1
% #p E 12.1 9,042 - - 4
P B E 7.7 3,791 - - -
= # e 18.7 3,334 1,043 - 5
g ¥ A 7.2 1,880 4,780 - -
e H E 8.3 50 1,020 - -
4 # A 23.7 9,026 - - 14
% pa A 26.4 8,678 900 - 2
K 2 % 35.2 17,900 5,220 1 17
N k] i 4.0 982 650 - 3
R W % 4.0 - 118 - -
A k] A 4.0 - 25 - -
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103 2 S - 389,733 66,342 87 2,273
104 E: A - 391,362 66,342 87 2,290
105 E: A - 395,301 66,546 87 2,346
106 E: A - 401,786 66,551 87 2,368
107 E: A - 403,089 66,595 87 2,375
IR BN 347,230 53,563 86 2,067
5 B O % 81.2 182,687 29,326 47 1,068
= T i 57.3 164,363 24,237 39 998
fe T i 48.2 180 - - 1
G- SLALN e 55,859 13,032 1 308
E % e 11.4 13,671 6,201 - 6
E P % 15.8 23,207 2,793 1 74
* % i 55.0 5,288 105 - 106
= % i 5.0 201 - - 33
¥ & % 17.0 8,596 1,861 - 65
4 i3 E 5.5 526 437 - 2
¥ % s 5.0 870 50 - -
= i % 25.0 843 690 - 9
-k i A 8.0 2,274 895 - 10
2 o % 3.0 - - - -
= £ % 3.0 - - - -
x F k% 10.0 383 - - 3
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103 P2 S - 15,638 8,833 1 11

104 E: A - 15,638 8,833 1 11

105 E: A - 15,638 8,833 1 11

106 E: A& - 15,638 8,833 1 11

107 E: 3 - 15,638 9,233 1 11
By e o)t 15,638 9,233 1 11

i -k P 158.7 15,638 9,233 1 11
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103 ¥ & - 10,101 3,528 5 19
104 & s - 10,101 3,528 5 19
105 ¥ & - 10,101 3,528 5 19
106 & IS - 10,101 3,528 5 19
107 ¥ B - 10,101 3,528 5 19
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103 # R - 10,900 2,400 15 15

104 # =Y - 10,900 2,825 16 15

105 # Iy - 10,900 2,825 16 15

106 E: IS - 10,900 2,825 16 15

107 £ Iy - 10,900 2,825 16 15
IR BN 10,900 2,825 16 15

1 3 R 75.9 7,377 425 12 3

A ¥ E 80.9 3,523 2,400 4 12




